SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 5)

TEST 2

Name:

Time: Score:

n 975020 — 232000 =

2 645639 — 405008 =

9 500688 — 450058 =

1335490 — 122320 =

5 988608 — 671307 =

6 427642 — 217131 =

N 864238 — 701102 =

8762340 — 602320 =

9 620126 — 610001 =

100431640 — 121430 =

17979356 — 2245216 =

12) 5047217 — 2043103 =

13) 972552 — 472250 =

1) 278621 — 131510 =

15 771312 — 531201 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 5
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618334 — 308102 =

389407 — 329307 =

986434 — 900333 =

615749 — 512311 =

690292 — 180021 =

803486 — 602243 =

660314 — 630101 =

9195942 — 9004930 =

8553932 — 4251920 =

902785 — 801144 =

281067 — 220054 =

372247 — 1025 =

827942 — 22810 =

597214 — 322213 =

599903 — 280803 =
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